EARAROBEEIERT — 2 N— IBISH —F

20129F4A1H (B) 2mEpR#48

HGN=-#Lvts -7 ¥5%3& (

~EA~)

Z=)

(187%E) RIE

‘(36«;} 8 ‘ (EmmEl  — |2 (&) 14000 B

[~®%] 1 7% 19,000,000 @ ~ 2 7 :7,600,000 @ ~ 3 7 :4,800,000™

4 7% 12,900,000 . 5 7 1,900,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R N HHEEE :23. - . . EELEH (RN
i ls5lg|vrnzas 3 aw 1(2_3)7 7-7 35.3(102.2| 7 :1+120) e
R:r/A7% B:IML—X e
= N HEIL#REL :23. — . . ERE (EH)
2 LAT 51T 4 3 e 1(12/32;3 13-11 34.9101.3| 1 (4_5;0) e
L:7RKvfvL—> B:LAvyLsa B0
# 3 | N EXF 1:24.0 4-5 35.8| 99.0 | 3 470 | EKAE (RR)
3 MNIrAAnAO— 56.0 (11/2) -2) ;*ﬂglg
L:d—IRAfO— B4 X714 —2 hit  Fik
— s . R : - FARE (EX)
4 =9I E=T4 9T "3 S0 1(52/‘2')1 ¥e %5 BT 4 <4ff) BT
R:F215>40 B:ZY/EX> AR
N —: t 3 | EEE= 1:24.2 14-14  |35.0| 97.3 | 10 | 424 |HEAARB= (ER)
5 JIT77T4AX * 56.0 (1/2) o | @ ez
RYIINTS L F— BixHF-—LAY J—ZAENZTZT AR
= HEMER 124. - . . hEFRIE (EH)
6 v ZXA1ET LI} e 1(/%4;)2 10-8 | 35.5| 97.1 | 12 (4—168) z&aaflg—
Z:yrh—r BUCFLL—T ilzbe)
. Elesp : - BEEE (EX)
7 FUIT M)A '3 5N [raes I R R g T #— 15
LiIAITF4IR BIIVLZTLIA—> A AKX
. — 5 AEEN : - EHEE (ER)
gl5|l7|*T¥avkr&4 3R 1'(214)'4 AR g‘) AT I
Rixq4ya9R—F— BixLoaydv FRS
- - FERER 124, = . . BEER (BEXR)
917112 7477V i3 54.0 17245;‘ 2 3.4 941 1 (4;6) *27_5@%?
L:ZRNTT 4 Z2F¥— BF—F—H—-ILZX FREF S
. = 43 | IERHE 1:24.5 4-4 36.3| 93.5 | 5 446 | RHEET (ER)
10(8[14| 7>F17 X 54.0 (7€) 42) | @R G1L—>>Y
RiTF4—TA2 87 8 B:T7>F3 EBRT7—L
. .. N Iﬂ/?ﬁ%ﬁ_ . — ZEE\[\_A_’]A (;i)
1 AV E it 3 o 1(.12/42.>6 12-13 | 35.6| 93.1 | 14 (4;6) EN@%
LY IINIF— BLT1TIA4T47 A7LRZXZY K
3 . B3 | AHEEHE 1:24.6 7-8 36.0| 93.1 | 2 436 | REEERI (i)
120N 4 | EVT1 Y FTR 55.0 (F4<) (c) |HE—EB
L:ZATATv— B:T71—IWKkVLT (AYiokie]
— i s 3 | BREEHASE 1:24.7 3-2 36.6| 91.1 | 9 500 | BREHBASL (3E3R)
13/8 13| V71— *7x 1k 54.0 (172 4o | B =il 4
L:T772VI7 B:T75T—h—-5— =Rl %S
LS 4 3 | BERERA 1:24.7 10-11 [ 35.8| 92.1 | 11 | 466 |KARAS (EiH)
14/ 1] 1| N LH 54.0 (74%) 1) | ) HEL-ZH-2
R4 TATv— B:F1—N (B) #HAEIA-FKL—Ya>@AE77
@ 21 L
£y 48.0-35.8
N> 24 L | 12.4-11.5-11.8-12.2-11.9-11.6-12.3
® I—F—@EBIERL
13—7-
23—7F—
G=7"= (x3,12)13(6,7,14) (4,8)5(1,10)9,2,11
41—7— (x3,12,13)14(6,7)8(4,5,10) (1,2)9,11
[ RN
B Op 8 3,340 794K 2-8 1,600M & 2-5 2,570M &R 2-6-8 8,630
# B 8 550M 6-8 2,430 B E 2-8 5,300 EE 8-2-6 100,790M
2 140 2-6 310M B H 8-2 14,080
6 200H

ABICOVWTRDTEEERROODE. TR LIV,




